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PSYCHOILOGY

Paper — 11

Note : This paper contains fifty (50) objective type questions ol two (2) marks each. All

Lad

questions are compulsory.

Which among the lollowing are the products in Guilford’s structure of mtellect model 7

(a)  Systems (b)y  Transformation

(c) Rcasoning (d) Interpretation
Codes :

(1) (a)and (b) only (2)  (a), (b) and (c) only
(3} (a), (b)and (d) only (4) (a), (b), (c)and (d)

According to Jung, which of the following is the deepest and darkest part of collective
unconscious and contains all of the animal instincts

(ly  Anmima (2)  Ammus
(3)  Shadow (4)  Pcrsona

In classical conditioning progress ol condittoning can be examined by indexing
Conditioned Response (CR) in terms of

(a)  Quantity (b) lLatency

(¢cy Rate (d)  Dcnsity

Codes :

(1y (a), (b) and (d) only (2) (b, (¢), and (d) only
(3) (a), (b), and (c) only (4y  (a), (c), and (d) only

Which of the following intelligence tests are applicable to an illiterate adult 7
(a)  Wechsler Adult Intelligence Scale

(b)y  Alexander Pass Along Test

(¢)  Coloured Progressive Matrices

(dy Koh's Block Design Test

Codes :
(1) (a)only (2) (b)) and (d) only
(3) (a)and (c) only (d)y (b), (¢)and (d) only
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Match List — T with List — II and sclect the correct answer by choosing from the codes

List -1 List — II
(Variable tvpe) (Example)
i, Artihicially discrete vartable | Neuroticism
b.  Continuous variable 2 Voice pitch
¢.  Qualitauve variable 3 Gender
d. Real discrete variable 4, Admission test results in terms
of admitted/not-admitted

Codes :

a b C d
(1) 3 I 2 4
(2) 4 | 2 3
(3) 4 2 ] 3
(4) 3 4 z I

6.  Length and Intensity of Lightwave play an important role in

(1)
(2)
(3)
(4)

Pereeption of colour and brightness

Perception ol colour and illumination

Pereeption of constancy and brightness

Perception ol brightness and illumimation

7. Match List — I with List — II and scleet the correet answer by choosing from the codes

given below :

List -1
(Concept)

a4, Rods
b. Concs
c.  Blind spot
d.  Optic Chiasm
Codes :

il b &
(1) SO B8 1
(2) 1 v
(3)y 11 11 1
(4 1 11 11

Paper-1I

i,

11,

v,

d

1V

1V

1V

List — 11
(Explanation)

Two optic nerves [rom two retina join each
other tor a short distance.

Do not distinguish colours,

Good detail vision.

Optic Nerves exit the cyes.

4 JA-004-17
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Geeta studied for sociology cxam and then studied for psychology exam. Certain coneepts
and theories are similar in psychology and sociology. While taking sociology exam, she
finds that she keeps getting contused with psychology theorists, Geeta’s problem is most
likely duc to

(1Y Decay of memory trace (2} Proactive mterlerence
(3) Retroactive interference (4)  Encoding ftailure

Which of the lollowing sequence 15 correct in case of the curve ol lorgetting ?

(1} Percent recall of words 1s greatest immediately after learning — Percent recall
decreases rapidly within the lirst hour — Percent recall lurther decreases rapidly
alter 30 days.

(2)  Percent recall of words 1s greatest immediately after learning — Percent recall
decreases rapidly within the hirst hour — Forgetting levels ol after the irst hour.

(3)  Percent recall of words 15 greatest alter two days — Forgetting levels ofl within
[0 — 15 days — Pecrecent recall decreases further after 30 days.

(4)  Percent recall of words 1s greatest alter 2 days — Percenlt recall decreases rapidly

20 days — Forgetting levels ofl after 30 days.

Consider the following three types ol investigations :

(a)  Expost facto ficld studices,

(b) Laboratory cxperiments, and

(¢)  Field experiments,

Arrange the above three types of investigations tn ascending order in terms of rescarcher’s
ability to control sccondary variance.

(1 (e), (b), (a) (2) (b} (c), (a)

(3) (b, (a), (c) 4)  (a) (c), (b)

Read each ol the following two stalements — Assertion (A) and Reason (R) and ndicate
your answer using codes given below :

Assertion (A) : People often attain their visual expertences after many years of blindness.
Reason (R) : Most of the knowledge of the world had come o them through the sense of
touch.

Codes :

(1} Both (A) and (R) arc true, and (R) 1s the correct explanation of (A),
(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A),
(3y (A is true, but (R) is falsc.

(4y  (A)is false, but (R)1s true.

Paper-1I 6 JA-004-17



www.prepp.in rrepp

9.

1.

11,

Your Personal Exams Guide

T = TSI Bl el o fAT aTeraT {5 ST 39 AT TANGSE B e & fAr aregeT
[l | TAE 3T TN H $9 ORI AR a9 8 | TS 1 e w2l
1 TN I T BT PN 7

(1) TIa 37a9M 1 44 (2) 31a Wl seaed

(3) UEEATT g (4)  STHHSAAT FI FIE HA]

ferTa- a1k o Aol H (Aefeiad F § & 91 0 T8l & 2
(1) 9157 = A TE@ 1 U9, T & qXa o919 T iU e & —> A% TE A 9
UEe 9§ S 9§ 92AT £ — 30 =2 F 919 O we & uiae Ot g g €

(2) VST & AR TG F UIAIIE, 2 1 918 9 9% Fe § —> I T N A9

TEel e H el § HeAl & —> TBel 5 3 A5 Yot 1 T o e TH 81 ST & |

(3) VIl W AR TEH F AP &l 541 % A% e 39% 86 6 —> 10-15 571 7 e # W

ST TR &1 ST & — 30 a1 % 9% 715 T &1 Jiaend 3T Jear ¢ |
(4) TEET B AR W@ o ufAeE &1 R F A v aifgs g E o 20 T A A @ #w
OfeTe S W BEAr & — 30 R AR G T AT TA 2 AT E |

e J TR & STEuoT o7 9= St
(a) AT & A

(b) AR § WA 31T
(¢) &0 vEn

AT TR0l 1 4T5e & i S EaaRdl & Al & SUR SIIE o THR % 370

IR 79 § Haied iy -
(1Y (c), (b), () (2) (b}, (), (1)
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In Pavolian conditioning paradigm the strongest and most rapid conditioning occurs 1n
(1) Simultaneous conditioning

(2)  Tracc conditioning

(31 Short-delay conditioning

(4) lLong-delay conditioning

Read each of the following two stalements — Assertion (A) and Reason (R) ; and indicate
your answer using codes given below :

Assertion (A) : The information processing approach is rooted in structuralism.

Reason (R) : It attempts to identily the basic capacities and processes we use 1n cognition.
Codes :

(1} Both (A) and (R) arc true, and (R) 1s the correct explanation of (A),

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).

(3y (A is true, but (R) is falsc.

(4y (A is falsc, but (R) 1s truc.

Utilitarianism provided the description of of thought and bchaviour.

(1) whal (2}  when

(3)  why (4)  how

Read each ol the following two statements — Assertion (A} and Reason (R); and ndicate
your answer using codes given below :

Assertion (A) @ Naturalistic obscrvation is a very popular rescarch method in cthological
research.

Reason (R) : Naturalistic observation is free from observer bias.

Codes :

(1) Both (A) and (R) are true, and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) arc true, but (R) 1s not the correct cxplanation ot (A),
(3) (A is true, but (R) 1s falsc.

4y  (A)is false, but (R) s true.

Paper-1I 8 JA-004-17
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(1) (A) 31T (R) T WEl & 3 (R), (A) T T8l AT & |

(2)  (A) IIT(R) ZH T €, wiee (R), (A) & Hel S T8l & |
(3)  (A) TR, AT (R) T € |

() (A) e & S (R) WA E

JA-004-17 9 Paper-II



www.prepp.in rrepp

Your Personal Exams Guide

16. Mecaningfulness of verbal material can be indexed in terms of
(1) Associative Reaction Time
(2)  Associative Yaluc
(3)  Single Responsc Free Association

(4)  Single Response Controlled Assoctation

17. Facial Feedback Hypothesis supports
(1y  Canon-Bard Theory ol Emotion
(2)  James-Lange Theory of Emotion
(3}  Two-Factor Theory of Emotion

(4)  Opponent Process Theory of Emoton

I18. Read each ol the following two statements — Assertion (A) and Reason (R); and imdicate
yvour answcr using codes given below

Assertion (A) : In some cases people attempt to reach the goal slowly and hesitantly.

Reason (R) : In approach — avordance contlict, a single goal has positive valence as well
as ncgative valence,

Codes :

(1) Both (A) and (R) are true, and (R) 1s the correct explanation of {(A).
(2)  Both (A) and (R) arc true, but (R) 1s not the correct cxplanation of (A),
(3)  (A)istrue, but (R) 1s false.

4y (Ayis false, but (R)1s true.

19.  Which of the lollowing 1s/are the imitation/s ol the survey method ?
(a)y  Difficultics in obtaining representative samples.
(b}  Unsuitable for subjects with low cducational levels,
(¢)  Socially desirable responding.

(d)  Can not be used in longitudinal rescarch

Codes :
(1Y (d)only (2}  (b)and (¢) only
(3) (@) and (¢) only (4)  (a), (h) and (¢) only

Paper-1I 10 JA-004-17
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Read cach of the following two statcments — Asscrtion (A) and Reason (R); and indicate

vour answcr using codes given below

Assertion (A) @ In cross-sectional research to study development process of mtelligence:

age and cohorts are confounded.

Reason (R) :  According to Flynn elfect, each successive generation ol people 18 more

mtelligent than the preceding one.
Codes :
(1) Both (A) and (R) arc true, and (R) 1s the correct explanation of (A),
(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A),
(3 (A)istrue, but (R) s false.

(4y  (A)s false, but (R) 15 true.

Chronometric measurement ol intelligence involves the use of which ol the following :
(1) Reaction time apparatus

(2)  Flicker-Fusion apparatus

(3) ECG Bio-feedback apparatus

(4y EMG Bio-fcedback apparatus

Read each ol the following two statements — Assertion (A} and Reason (R); and indicate

your answer using codes given below :

Assertion (A) :  The mdividual 15 lelt with Iittle or no energy for cathexise (APM) alter

satislying a particular need.

Reason (R) : Cathexis 1s the investment of psychic energy in the thoughts of objects
or processes that will satisty a nced.

Codes :

(1} Both (A) and (R) arc true, and (R) 1s the correct explanation of (A),
(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3 (A)istrue, but (R)1s false.

4y (A)is false, but (R)1s true.

Paper-1I 12 JA-004-17
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T

(1) (A) 3T (R) T WeT & 3 (R), (A) & T8 A & |

(2)  (A) 2T (R) THT TE1 € A, (R), (A) T TR S0 &7 € |

(3)  (A) TR T, AT (R) TAT € |

(4 (A)TTd T, AT (R) TR & |

g & FIATEE T | e | 9 s vE g6 € 2
(1 DA TShal ShTe SHEHL0T

(2)  TOHRTHRT T IR

(3)  ZIIL G e ST

(4) ZUAS 9HT BIEd® ST

fFferiEd a1 F9AT — AT (A) 3T a5 (R) &1 7120 i 99 50 70 %27 7 374N F4d g0
39T FL BT

ATWHIT (A) 2 THET 2ATTTIHAT TE97H Tl T I & IULT A o T FRe & a0 Fgd e
Tl ST & A1 [Fothel Sl 78] 99d & |

9% (R) : g, Ma= 27 a9 96T § A9 Sell & Joi T § SE 3evasdl 1
Il & |

T

(1) (A) 2T (R) AT W1 & 2 (R), (A) 1 T8 =91 € |

(2)  (A)FR(R) THT WET €. TG (R), (A) I TR =T 81 ¢ |

(3) (A)TEE W (R) T & |

(4 (A) 7| 7 T/ (R) W& |
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Network of auditory pathways can be arranged in which of following scquence :

(1) Auditory Nerve — Cochlear Nuclet — Superior olives — Lateral Leminiscus —
[nlerior Colliculi — Medial Geniculate Nucler — Primary Auditary Cortex.

(2)  Cochlear Nuclei — Auditory Nerve — Lateral Leminiscus — Superior Olives —
Inferior Collicult — Medial Geniculate Nuclei — Primary Auditary Cortex.

(3) Auditory Nerve — Cochlear Nuclet — Lateral Leminiscus — Inferior Colliculi —
Superior Colliculi — Mecedial Geniculate Nucleir — Auditory Cortex

(4)  Cochlear Nuclei — Auditory Nerve — Inferior Colliculi — Superior Colliculi —

[Lateral Lemimiscus — Medial Geniculate Nuclel — Awditary Cortex.

The tendency for parallel lines to appear to converge on each other 1s termed as

(1) Motion parallax (2)  Ponzo illusion
(3)  Linear perspeclive (4)  Aenal perspective

In a contingency table, one of the cell has an obtamed frequency ol 20 and an expected
frequency ol 30. What would be the contribution of this cell towards the total Chi-square

value 7
Cly 339 (2)  5.00
(3 10.00 4y 20.00

Match List — I with List — IT and select the correct answer by choosing rom the codes
given below :

List -1 List — T
(Concept) (Explanation)
a.  Analogical reasoning 1. Processes that allow to make

predictions about cvents/objccts,

b.  Deductive reasoning 1. Using nlerences o add new
knowlcdge,

c.  Inductive reasoning . Using means-end analysis.
d.  Physical reasoning iv.  Drawing valid conclusions trom
PICIMIsScs,
Codes :
a b C d
(1 i S P N At
(2 1t it v i

3y i v i i
@ v i i

Paper-1I 14 JA-004-17
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HEIUTTT U o F2aeh 1 FTAieTiEd e s | satedd e s e &

(1) &5@vT AR —> FHIUET Fadhl — FIRIT AT —> SIS ATTIF] —> TR

FITRI —> HIZTeT STHEele e — TR el Feay

(2) FHUTET FFEI —> HAUT A —> Tlele] AT —> GURAY elEd — AHRRE

RIS — TIEAeT SAHhele <ol — W 31e2 HEad

. " o ¥ - "~ = e | R [ e L
(3)  HGUT TIER — SRIOMER SReehl — ofdde] o9y — SMEEY SRl — IR

[ ) M S S - T iy o
HIAFIAT — TSI S-HeIe gz — AT A
S r E fis T [ . ) L [ L) =

THIAT TE1T 1 W 3R &1 Uaid &1 3l i T ST & |

e -

(1) TIaTSTTaEeTT (2) TSI oo
(3y Y uiwe (4) &g ui

T 27T ERIRIEL] (ﬁﬂ?ﬁ dﬁiﬂj T T<h SHITITRT Shl W‘aﬂaﬁ?—r 20 ST 20T EJ'IF{T'?T 10 _br :
T SHTE-TFATET Hed H 8 HISTHT S A 1 B 2

iy 9 ) 5.00

(3 10.00 4y 20.00

T — 1 1 2 — 11 % 91 grled i dAR Fefafed 320 1 gam #7d g0 98l 3T & 997

o

R

=it~ 1 et - 11
(ATT4T) (ST )
Q. HIGYIHTS d% i AfshaT TSTa =27 [ aegell o an
:ET !:-Trra = : a-_;-\r ot '__, 1‘_ r;{.“ % [

b, O A . IS SEA &g ST SR
c.  THA TR i, TTEF-Ere TEveToT S TR

d. T T v,  STMER-EEE 9 o R e

S R
() i i iv i
Gy i v i i

4y v i i
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27.  Match List — I with List — II and scleet the correct answer by choosing from the codes

given below :

List -1

(Concept)
il Cortical Mosaic 1.
b.  Dynamic Stercotype il.
¢. Conditioned Inhibition 1.
d.  Orlenting Rellex A
Codes :

a b C d
(1) 11 1 AY
(2) 1 Y 11 11
(3)y  moav ] 1l
4y v 1 1] ]

28. Match List — I with List — II and select the correct answer by choosing from the codes

given below :

List -1

(Concept)
4 Drive 1.
b. Yerkes-Dodsan 1aw 1.
3 Power Motive 111,
al Need 14,
Codes ;

3] b C d
(1) i i 11l iv
(2) 1] 1] 1V ]
(3) i1 Y i 1
(4) v 11l i 1

Paper-1I

List —II

(Explanation)
Cortex 15 constantly  being  excited or
inhibited depending on what the organism is
experiencing.
Extinction that occurs after a previously
excitatory CS 1s repeatedly presented withoul
reinforeer.
Tendency ol organisms to attend to and
cxplore novels stimuli that occurs in their
environment.
Events  consistently  occurring i the
cnvironment come to have neurological
representation making the responses rapid
and autonomic to the familiar environment.

List — II

(Explanation)
A state of deficiency or excess of something in
the organism, the fulfilment or climination of
which 15 essential for survival and balance.
A state ol psychobiological readiness  thal
motivatecs the organism to act for the
fullilment of need and reduction ol tension,
The level  of  arousal  bevond  which
performance begins to decline.
Tendeney or capacity to produce intended
ctfects on the behaviour or emotions of other
persons.

prepp

Your Personal Exams Guide
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27, WET -1 H T - 11 % T GHAT B0 SR FETAE el 1 U FI g0 TRl 3T 6 T9T

I
?ﬁl’i 1
{W}
i. = 3352 4] r”Ha
h FE ﬂ-’ EE:EDE EE":

o

(1)
(2)
(3)
(4)
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a
1
i
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v
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che:
(1)
(2}
(3)
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29,  Match List — I with List — II and scleet the correct answer by choosing from the codes

given below

List - 1
(Concept)

@ Syntelity
b. Sell-sentiment
c.  Mectacre
d. Subsidiation
Codes :

3] b C
(1) v 11 ]
(2) 1] 1V ]
(3) v 11l i1
(4) 1 Y 11l

111,

1V,

List — 11
(Explanation)
Dynamic  source  trait  with  an
environmental origin,
Description of traits that characterize a
aroup.

Causal relationship  between  Ergs,

sentiments and Attitudes.

The most powcerful scntiment which

organizes the entire personality,

30. Read cach of the following two statecments — Asscrtion (A) and Reason (R); and indicate

your answer using codes given below :

Assertion (A)

Reason (R) : Disruption of goal-dirccted behaviour usually leads to frustration,

Codes ;

(1)
2)
3)
4)

Paper-1I

L0 dgEression.

Both (A) and (R) are truc, and (R) 1s the correct cxplanation of (A).

Both (A} and (R) are true, but (R) 15 not the correct explanation of (A).

(A} s true, but (R) s false.

(A} s Talse, but (R) 1s true.

18

Minor frustrations will add upto produce considerable frustration but not

JA-004-17
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29, TR 1 WA - 11 F W YT Fee 2R 19 80 T F2 T 9 98 ST g9

.

b.

o

d.

(h
(2)
(3)
(4)

= — |

(ST

[ N

o7 G (1Gefere) i

;x: {'_;E: \_,-E -?U\sx

a b &
v 1 i
11 v 1
v 1 1

1] v
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i,

v,

d
11
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30, T=eTEd &1 &A1 — NI (A) 2 T8 (R) & UigU AR A= G 0 2l 3 STAR Fd g1

ST 3T B0

AT (A) : DT FATTE GE1 FaAFT H T LT § T SR T 81 |

T (R) : o9 =Ieer O =aee 819 T U4 §am9T Al E |

FT:
(D
(2)
(2
4

JA-004-17

(A) 3T (R) 51 T & 31X (R). (A) I ¥l &R ¢ |

(A) 3 (R) A1 W&l &, T (R), (A) & T2 S &l & |

(A) T2 &, T (R) TeTd & |

(A) ToTd &, e (R) TET & |

19
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31.  Which of the following arc not nucler of Thalamus 7
(a) Internal Lamina
(b)  Antcrior Nuclcus
(¢)  Ventromedial Nucleus

(dy  Paraventricular Nucleus

Codes :
(1) (a)and (b) only (2) (b and (¢) only
(3) () and (d) only (4) (a)and {c) only

32,  Short-term memory holds mlormation lor

(a)y 50 scconds (by 30 scconds or less

(¢)  morc than 60 scconds (d)  between D0 and 60 seconds
Codes :

(1} (c)only (2)  (a)only

(3) (b)only (4) (a)and (d)

33. Match List — T with List — Il and scleet the correct answer by choosing from the codes
given below !

List -1 List — 11
(Concept) (Explanation)
i, Horzontal-Vertical 1. Our eyes turn mward toward one-another n
Hlusion order to see close objects.
b.  Atmospheric 1. What we perccive often 1s based more on what
perspective goes on n our mind than what is in front of
Our eyes.
c.  Convereence iit.  Tendency to perceive objects high in our
visual eld as more distant.
d.  Figure-ground tv.  The farther away objects arc, the Iess distinetly
they are scen.
Codes :
a b C d
(1) [ I n1v

(2) i i iv
3y ioiv i i
4y ivoi 0 i

Paper-1I 20 JA-004-17
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(STEET) (=aTE=T )
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Read cach of the following two statements — Asscrtion (A) and Reason (R); and indicate

your answer using codes given below :

Assertion (A) :  Participants of a study were shown novel gecometric shapes that scrved
as tarects, Then they were shown fragments of these shapes. Participants
were quicker to recognize the tragments as part of the original target.

Reason (R) : We do not use Gestalt principles in our everyday perception.
Codes :

(1) Both (A) and (R) are true, and (R) 1s the correct explanation ol (A).
(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A)istrue, but (R) s false.

(4y  (A)s false, but (R) 15 true.

In problem solving 1f you follow rules that reduce the number ol operations or allow you

to take short cuts, you are using :

(1) Algortthm (2)  Heunstic
(3) Stralegy (4y  Skill

Anticipation Mcthod can be used n
(a) Free Recall

(by  Senal Learning

(¢}  ¥Yerbal Discrimination

(d)  Paircd Assocrates Learning
Codes :

(1) (a). (b)and (c) only

(2) (b), (c) and (d) only

(3)  (a) and (b) only

(4} (b)yand (d) only

Paper-1I 22 JA-004-17
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34, FEEE 2 FET - ANTEE (A) S E (R) H URT AR Y &Y 7Y F2 H STA F1E g0

fnd
tin

39T 3T B0

ANHLT (A) : T 3T U 58 THaell ] a7 Saadg Sl SEmEl a1 51 & o1 |
oA @ = e o B T AU SAldeh el ¥ wEErE |

% (R) : 55 56 Temeqv § THZee [951d 1 TN 781 0 § |
hd :

o

(1) (A) 3T (R) T ERTE AN (R), (A) =T T&1 =37 £ |

(2)  (A) 3 (R) 3F Tal & T (R), (A) & T&l &I &l & |

(3) (A) T & W (R)Tod § |

(4)  (A) T € TR (R) WET ¥ |

TEE O H, T S0 U g S U e & TSe AT @ T8 W sl 2l Tar
TR TS I o 1 P Ter €, Ay e

1} ey (T (2) 3TV
{ 1) e

b

(3) UM (4) IV

Jare fafe o v % e T e & |

(a) TR UTTRA

(b) FHEE 2T

(c) @M= Y5umE

(d) FIHT T 2

(1y  T9F (a), (b) 37T (¢)
(21 TOF (b). (¢) & (d)
(3) % (1) 2 (b)

(4) 9% (b) 31T (d)
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Gestalt Psychologist Max Wertheimer attempted to train children to think in a logical and

systematic way where he used several hgures such as
(a)  Squares and reclangles

(b) Parallelogram

(¢)  Tnangles

(dy  Circles

Codes :
(1}y (a) & (b)only (2) (b)and (c) only
(31 (c¢)and (d) only (4y  (a), (b) and (c) only

Which of the following scquence describes the energy mobilization in body 7

(1} Fasting phasc — Absorptive phasc — Cephalic phase
(2)  Cephalic phase — Absorptive phase — Fasting phase
(3)  Absorptive phase — Fasting phase — Cephalic phase

(4)  Fasting phasc — Ccphalic phase — Absorptive phase

According to Bandura, which of the following cognitive mechanisms

arc adopted

by a person to act contrary to his or her moral principles without experiencing

sell-contempt :

(a)y  Moral justification

(b)  Dchumanization

(¢)  Displacement ol Responsibility
()  Diffusion ol Responsibility
Codes :

(1) (), (b)and (c) only

(2}  (a), (b) and (d} only

(31 (b). (¢) and (d} only

4y (&), (h), (¢) and (d)

Paper-1I 24
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37, TR AMASE, T SEieAT 7 g o) e 7 sgared ¥ T 9ree o @ uieied sy wm
AT TRET STET 3R 2T SR ST WA AT T

(a) G e i )
(b) TR =TI
(¢c) Trq=

() T

(1y  T8%F (a) AT (b)
(2)  TOF (h) 27T (¢}
(3) T8 (¢c) 2 (d)

4y % (a), (b) 3 (c)

38, FEfcEa 9 9 & 91 79 IR T Sofl Ug0T 1 9T § 7
(1)  IUE B0 — TSN TR —» T oI F0T
(2)  TRIeTeR TROT — AT FOT — ITATE TL0T
(3)  SAFATIEOT TEOT —s SUATRT TROT — THToAF =0T

(4)  ITETE TR — UHAH T —> STFNT0T 0]

39, g0 & IR, AR w1 3T [ oy et sfaa gRn o Afaes il & fovg wE

FT o T eI | i J1 S o (Hoh{HAe) 3R ST & 2
(a) =a il
(b) TR AT

(¢) EIFeE = e

(d) = 1 TR

& ;

(1) = (a), (b) &R (¢)
(2} WA (a), (b) 3T ()
(3} HEA (b)), (¢) 3T ()
(4)  (a), (b), (c) 3T (d)
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In Guilford’s struct of Intellect Model, obtained abilitics have been named in which of the
following sequence :

(1)  Operations, contents, products

(2)  Operations; products; contents

(3) Contents; operations; products

(4)  Products; contents; operations

Read cach of the following two statements — Asscrtion (A) and Reason (R); and indicate

your answer using codes given below :

Assertion (A) ¢ Differences between mtelligence levels ol monozygotic twins are
attributed to environmental mfluences.

Reason (R) : Monozygotic twins have identical genetically determined reaction range.

Codes :

(1} Both (A) and (R) arc true, and (R) 1s the correct explanation of (A),

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).

(3 (A)is true, but (R) is falsc.

(4y  (A)s Talse, but (R) s true.

Muatch List — T with List — 1T and select the correct answer by choosing Irom the codes
given below

List -1 List — I1
(Explanation) (Concept)
a.  Remembering meaning of words, 1, SCNSOry memory

properties of objects.

b.  Helping information to bc brought ii. Scmantic memory
back to mind when 1t cannot bhe
recalled spontancously,

¢.  Remembering specific cxperiences of 111, Retrieval cucs
the past.
d.  Retaining represcntation of scnsory iv.  Episodic mecmory
mput for briel periods of time.
Codes :
i b ¢ d
(1) [ no oIy

(2) i i v
3y i i i v
4y v i i

Paper-1I 26 JA-004-17
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40. Trese % gie g oiasy § e areaie o e 9 9 S w5 st ey o

(1) wTsha, T, SR

(2) s, 3o, WEEE

(3) T, AEEAT, S
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41, FfeEtEd 51 #Er - TR (A) 3T a9 (R) & 9feT o7 39 U 70 520 6 ST 1 gu
30T FAL 71T

AVHT (A) 1 Uk FTHAST SIgal d=dl oh d1d ks oh T ol Y TAER0E 919 % HR0T 51 & |
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(1) (A) 3T (R) EFT T&1 & T2 (R), (A) &I T =811 7 |

(2)  (A) 3R (R) TH1 TE1 &, Al (R), (A) = T8 20 781 & |
(3)  (A) TR E, AT (R) Tod € |
4y (A) T T, AT (R) TRT & |

42, AT -1 A - 1] & 91 FHo i 2R =iad el 31 9I0 X g0 Tal ST 1 F99

ERIE Lt
et - 1 e - 11
(=) (STTEOm)

0] -

. VIEREI o o, IS o UTYH W T FE i TR T

b, 9 CE-TFET O GE SR G T e WA ar i, vy faogs wia

o

AT o TEYTSS SFTHAT 1 a5 BT i, U R % Ry T
d.  F W & [0 GaET T2 & UTa-rEe v,  goEeTeE Wi
o= ~]. PR

a b e d

(1) i S § A

(2y w1 v ]

(3} ur i i 1y

(4y v oI ]
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43. Information in short-term memory enters long-term storage through
(1y  selective altention
(2) claborate rchearsal
(3)  learning

(4) information-processing

44,  Read each of the following two statements — Assertion (A) and Reason (R); and indicate

vour answcr using codes given below

Assertion (A) : A neural membrane 15 double-layered.

Reason (R) : Lipid molccules turn their tails toward cach other.

Codes :

(1) Both (A) and (R) are true, and (R) 15 the correct explanation of (A).
(2)  Both (A) and (R) arc true, but (R) 1s not the correct cxplanation of (A),
(3 (A)istrue, but (R) s false.

(4y  (A)1s falsc, but (R) s truc.

45, The mputs from our sensory receptors are structured by
(1} Selective principles
(2)  Gestalt principles
(3)  Analytical principlcs

(4)  Lcarning principles

Paper-1I 28 JA-004-17
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43, oo S T O ST SHEYT § T o "IeEH © TRt YAl §
(1) =IATCHSh 3T
(2)  ToreTe qEmETE
(3) &t
(4)  HIT HEEA

e o ~ -

44. AR 51 A — AR (A) 3T FE (R) 1 T 3 AR G T FT AN FT g

AT 3T S0

AU (A) : =0 TR H T U Bl § |

T (R) @ TTETE 9] (HTeTsret) Wah T 2 A S B AT £ |
o

o

(1) (A) 3T (R) AT T & 20 (R), (A) 3 T2 == 7 |

(2)  (A) 3R (R) TH1 W1 &, &b (R), (A) ol T&T = 781 & |

(3)  (A) TEI &, &% (R) o & |

4y (A) T T, AT (R) TRT & |

45, TN TR GURH 6 U AT  FRTETAE B

(1) == 950
(2y  TOETEE TEET

(3)  TEveqUIeTE gt
@) e g
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46,

47.

48.

49,

{.

Instructions for Questions 46 Lo 50 ;
Read the lollowing paragraph and answer the [ve questions which follow :

A rescarcher working in the arca of human ntelligence wanted to develop a new
verbal test of intelligence. For this purpose, he wrote 200 objective multiple-choice items.
FEuach item had four alternatives. one ol which was right and the three remaming ones were
wrong. He admimistered this mitial version to a sample of 400 subjects. Using Py and Poq

as the cut-off points, he obtained two groups — Low Scoring and IHigh Scoring
respectively. The ttem difficulty index and the item discrimination mdex were computed
for each ol the 200 1tems. To assess whether each item significantly discriminates between
Low scoring and High scoring groups, appropriate statistical significance tests were also
employed. This ttem analysis process retained 150 items. The [inal version of 150 1tems
was administered to a fresh sample of 750 subjects, The appropriate measures of internal
consistency reliability were obtained. The test norms were developed using normalized
T scores (mean = 100, SD = 20) and the Wechsler type deviation 1Q scores. To assess the
dimensionality of verbal intelligence, the rescarcher also carricd out the factor analysis of
ltcm scores.

Which one of the following test of statistical significance can be employed in the above
study to evaluatc whether the ttem significantly discriminates between the Low scoring
and High scoring eroups ?

(1)  Chi-square (2)  Poimt-bisenal correlation

(3) ttest (4) Biscrial correlation

Which of the following reliability coctticients can be computed in the above study to
asscss the internal consistency ?

(ay  Odd-even reliability coellicient

(b)  Kuder-Richardsen reliability coctficient

(¢)  Cronbach alpha coelTicient

(d} Intcrscorer reliability coctficient

Codes :

{1y (a)yonly 2y (a)and (¢) only

(3) (a), (b)and (c) only (4)y (b), (c) and (d) only

For the above test, what is the expected percentile rank for the T scorc of 120 7
(1y 60 (2) 68

3y 75 4y &4

For the above test, a T score ol 80 would correspond to the deviation 1Q of
(1) 68 (2) &0
(3) 85 (4) 115

In the above study, which type of corrclations can be employed to carry out the factor
analysis ol the test items

(1)  Biscrial correlations (2)  Phi coctficicnts

(3)  Point biscrial correlations (4) Rank order correlations
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U9 T 46 50 & T 89
AT TLUTE &Rl T@end ==l 191 T 9= Y91 =5 I gil=I7

AHE 9hg % HF W HME A Sl U ATHYEERAl AU WRR % HiEs kg UET W
feraRed AT Rl A7 | $80 UAH § 38 200 e dgiasedd 95 (U9) ofd | T T8 &
A Tashod o, 58 W UeF Tal T 27 99 o9 Teid 9 | 38 30 2AR9e U8 (&=14) 61 400 fawa
% TN H e AT |0, SR ., W ZEA HOIW a1 GHEHH 3k U e A R
217 WWWWWWW IW?{}{}WWWWWWWWGW
?TE:{EFEETTTUT‘TTEETTF IWWWWWEFWWWWW e UTH T A W
T 275 U TR ol WAl § S7E Y TRl o, Auiad Wi qieer o e T (39 0E.
Fereetoror Uismal 150 T off | 150 TR & offaw a9= ¥ 750 fowat o v S5 vt fRu e |
FATF TEaar EvauTEar % StE gMET ure U M0 | W TS (T - 100,
TEE — 20) 21T IYAT WBTY o [a2 212 39, =61 DT Y ORT0T He foeptard T Mo | o
TEFEF :jWT%TWW?W W»TT_TEFHTEFW ::T%T%TWWWW |

A6, T @I T 3T I T (5 S U Y 375 U Sl el 2 3T1EER e UTe I @el
TIRT | Soola=a 376y &l § SWET 2T | mieiiad § 9 S ¥ Tl Hgwl & TeT
1 T e ST ekl &Y

(1) SFE-EEET (2) TETEZ-ETEUNA SHIeT9H
(3) e (4) IEANES FICTH

R e

47. IREE FAT T AN GOl & e w3 % o Fefeiad O 9 g Evegmer 1o
T U T T FFHAT 2
()  TH-Tauy [geerg= T o
(¢) HISIT 2T T[T
(d)y TR fagaaEraar Torw

HT
(1) =3 (a) (2) A (a) AW (¢)
(3) A (a), (b) 3T (¢) (4)  FEA(h), (¢) 3 (d)

48, IIUE TLET0T % foAT 120 T UTeieh & Toqu 27ufeqd 9rweh &1o7 S & 2
(1) 60 2) 68
(3375 4y &4

49, IS T & TAT R0 T WIHF AETATET F @ ee R, o FeTE g
(1) 68 (2) 80
(3) 85 (4) 115

50, TRFT TR O IR W61 % Hes @Yot & ol [0 UK & Tggadl (i Releid) F TanT
feFa ST el & 7

(1) =EgiIs HiemE (2) TRIE U
(3) TEEZ FATENTA BT (4) T ST HIATE
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